





N
.]]

29X




55@% MMM

Carriage Bolt M10x70mm Qty9

56 [l

Axle @16x180xM12 Qty1

57@ T

Allen Bolt M10x45mm Qty9

(I

.

Allen Bolt M10x155mm Qty1

i

.

Allen Bolt M10x90mm Qty1

o

Allen Bolt M10x80mm Qty2

31 @M]]j]ﬂ][]j

Allen Bolt M10x20mm Qtyz

o1 @ il

Allen Bolt M10x65mm Qty4

UL

"

Allen Bolt M10x50mm Qty4

63 QWMM

Allen Bolt M10x25mm Qty8

«

Allen Bolt M10x16mm Qty8

65 é I

Allen Bolt M10x28mm Qty3
L=15mm

66 =1V/III/I/ll//I///////l///l//I///lll///l/l/l/I/IA

Allen Bolt M8x40mm Qty2

o G

Allen Bolt M8x15mm Qty6

68[

69@

@8mm Washer Qty16

n (O

@10mm Washer Qty 72

Aircraft Nut M10 Qty37

72

@12mm Washer Qty2

O

M10 Spring Washer Qty 4

. 0

M12 Spring Washer Qty 2

75@

M8 Spring Washer Qty 2

76

)

Aircraft Nut M8 Qty2

7 (I

Aircraft Nut M12 Qty2

o G

Allen Bolt M8x25mm Qty2

79@ T,

Allen Bolt M10x60mm Qty2

i

Allen keys 5,6,mm










0
DA NNNNNNNANAN
¢c 0

[ L T 1 I r 7 I 1 171 /J] _|_|_I

Q 05 \
- v\uu ﬂA \
0 \

o) / -

757G T 75 T A T TA T AT TSI\ \

\

\

L

\




]

A




5\

)

=~

N - @ »@
N S
&

@

£

_ /
@ @ @\'l./@w |o A

| / !I/,/Hlu”l\w e

N :/__

)
0

I
——

Vﬂ
y s < ——\e\
Vo S
/7N
LY




i

AN S

\/
>, O HHHHHHHHHHHHH\\
A 7

0
0
et st
0
m
o,
7\ O
\s




1

//M X

Sy

VAN
A,

7/







i

A

\/
I lllllllllllllv\

/.

<)
‘o /) 4
0

v —_
0
12502
S -’
& L &

! L=
/ C N S
VAN /i/x’lwv
N

g \ Vi _/
.\\@Q




.
S
2N\ \

/)

U

I lllllllllllllr'
















/ \
o \A//My/
VAR A\

\

Al
S @




3
R A o @ o &U - 3 21 2
/ ) a = . S X 2 | A 2
< N - V»‘t‘.’ n}/./,./,./,.,, o\ > %0 \
=3 / & \ G~ ~ { o b3 / . o / / .
N —
X oo ¥ 3 . A
= ©

A @
5

O

\\ J3Per 2 TERI Y

9 //\\“J\
NS ASANY 7‘;‘\;\

==

0
— o y ;
- 7 O a ‘°m A

%

<%
&
8

e \FE

03 V;;E,&_EIIIIIIIIIIIIIQ;E

,{!Y/Z AT an

(=]
- w
II m %h
@ el
Ty v vy rrrrbv Uy

R
%) X
&
» -
o
7 -
= o
/ 3 § L
= S s 7% A
; TSV
£ 7 Ny /7
—
i/e

o]
9
o

20k



	HGX-150说明书步骤图封面
	HGX-150说明书步骤图0820 Model (1)
	HGX-150说明书步骤图0821
	HGX-150说明书步骤图零件
	HGX-150说明书步骤图1
	HGX-150说明书步骤图2
	HGX-150说明书步骤图3
	HGX-150说明书步骤图4
	HGX-150说明书步骤图5
	HGX-150说明书步骤图6
	HGX-150说明书步骤图7
	HGX-150说明书步骤图8
	HGX-150说明书步骤图9
	HGX-150说明书步骤图10
	HGX-150说明书步骤图11
	HGX-150说明书步骤图12
	HGX-150说明书步骤图13
	HGX-150说明书步骤图14
	HGX-150说明书步骤图15

